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For exercise 1 — 2, determine which two sets of data will overlap more —Sets A and B or

HW for ML #2 Variability (Day 2)

Sets A and C.

1. V/Set A has a mean of 12 and a MAD of 5.1
Set B has a mean of 23 and a MAD of 4.9
/Set C has a mean of 10 and a MAD of 4.8

2. v/ Set A has a mean of 104 and a MAD of 19.6
v’ Set B has a mean of 84 and a MAD of 25

Set C has a mean of 180 and a MAD of 20.
For exercises 3 — 5, use the information given about class test scores shown in this box

plot.
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3. What conclusions can you draw from looking at the plot about how effective the
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4. What is the difference in the medians between the sets of data?
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5. The MAD for both groups of students is 6.2. Compare that value to the difference in
medians. What does that tell you about the data? Tne difiirence. N medions
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For exercise 6 — 11, use the information given about the points that two basketball

players scored in each of the games they played in this year.

Y O+ 5 4+ g+ g4 2+ L+ 00 4+ Y =Y

e L—l - e e
Player A | 30 | 26 | 21 [ 28 | 24 | 28 | 25 | 26 | 30 | 22 |=*
PlayerB | 16 | 18 | 15 | 18 | 22 | 14 | 16 | 23 | 18 | 20
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6. Find the mean number of points scored for each player. Find the difference in the
means. ?\CA\\CV N-2L0o =\0:qb prs _
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7. Find and compare the MAD for each player.
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8. How many times greater is the difference in the means than the MAD for each
player? Avreon = B \ 2 GHeS
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9. Would you expect there to be a lot of overlap in dot plots of the data? Why or why
hot?  No, The datoen Yalwes Show No over\ap.

10. Suppose the mean number of points scored for Player B were 25 points, and the
variability stays the same. Would you expect there to be a lot of overlap in a dot plot of

the data? Why or why not? €3, e MRAD wouwld e moeve Tha
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11. Your mean quiz score is 15 points higher than your friend’s mean quiz score, which is
3 times the MAD of both of your scores. Do you think there will be a lot of overlap if you

make a double histogram of the data? Explain. Wo, Y dirone N
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